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number 95137248 each of which has as many
digits between ‘them jn the number as when
they are arranged in“ascending order?

1. None 2\ One- 3 Two 4. Three

5. More than three ;

Directions {Q. .'J 10): Str.uiy the meaning of the given

mbols and-answer the quostlans based on it

i) P x @ ieans Q.Lﬁ_n‘uit.ht.r of P

ii) P+ means P is brother of @

iii} P - @Q means Fis sister of Q

iv) P <@ means 4 is father of P

Which of the following definitely means R is
grandson of K7

1. M and S travel in the opposite directions
2. 8 travels towards West

3. T travels towards North

4. M and S travel in the same direction

5. None of these

Directions (Q.16-18): In a certain code language
meanings of some words are as follows:

(1) 'pif na sa’ means 'you are welcome’

(i1} 'na ho pa la' means ‘they are very good'

(iii) “ka do lo” means ‘whe is good'.

(iv) ‘od ko pit la' means ‘they weleorme good people’.

16. Which of the following means 'people’ in that

code language?

1. ho 2, pit 3 la 4. 0d

Marks : 200 SBI/SBI Associates Banks Clerks Time : 135 Min .
MODEL PAPER - 15 !
| REASONING ABILITY | LRxT+K 2.M+RxT+K
1 In a certain code language BEAM is written as ‘_i N‘! Rl 4 Cannot be determined
5% *K and COME is written as § TK%. How is 5. None of these
BOMB written in that code? 10. Which of the fo.'l]f.IWL l.émg:s is superflu-
1.5% K5 2.57K5  3.8TK$  4.58%5 ous to answer the uesti
5. None of these 1. None 2. (1) E lli}qnl} /4 {iii) anly
2. If it is possible to make a meaningful word with 5. (iv) only
the second, the fourth, the sixth and the ninth Directions (Q, 1« Iﬂ?‘—ﬂ!ﬁ:h Eh:@:ffﬂa{.mg five num-
letters of the word PERMEABILITY, which of the bers and answer jﬁrc questions given hélow.
following will be the first letter of that word? If 517 328 bi‘} 841 “?‘!2
no such word can be formed give 'N' as the 1. What Vl(ll last.dq 'ltuhhe third number from |
answer. If only two such Tvords can be formed top whe t«l?e arn w&}"ranhed in descending |
give 'D' as the answer and if more than two such r s the poaitisn of the d.lgjts |
words can be formed give 'Z' as the answer. h in ea-:: & ;?
1. M 2L 3N 4D _
5. & g i alike § rtal ne ﬂPLQEae f :
3. Four ofdthe :DHOWIN{ e :?l':'ct:i:tl]:lenuii I:a:: 12. \J(’hnt ill be tHe middle digit of the second low-
:ﬂr o ta:’ulorm‘: f;ua:p. o ]., /~—__est number after the position of only the first
g elons‘ = ?P 4 125 / and-the second digits within each number are |
1.29 2.85 3. 14 . mtmvﬂg o |
5. 57 15 2.2 3.7 4.3 i
4. Which of the following has the same relation- / ] 5N Fih
i f Money : Wealth? { el e d . ,
ShlP e “!'at u A 0 “ 13 W;?ét will be the first digit of the second high-
1. Pity : Kindness 2. Cruel ; Anger % \‘\/ /est number after the position of only the see-
3. Wise : Education 4. Pride : H'-"_T“l“!r' e B ¢ ond and the third digits within each number
5. None of these _ . . areinterchanged?
5. Four of the following five are alike in a certain “n,\ ~ N L7 2.2 3.8 4.9 =
way and so form a group. Which is the one that  ~——— ; 5. None of these
does not belong to that group? . 4 — /14, Mohan and Suresh study in the same class. |
1. Crow 2. Vulture 3. Bat 4. Ostrich _ ~ .. Molian has secured more marks than Suresh in |
5. Eagle 4 the terminal examination. Suresh's rank is sev-
6. Four of the following five are alike ina certmn oS enth Erom top among a]l thi_a studeFts in the
way and so form a group. Which is the u;u: thab e class, Which of the following is definitely true?
does not belong to that group? ,f . 4 3 rd 1. Mohan stood first in the terminal examination
1. Food : Hunger 2. Water : Thirst._ i d 2. There is at least one student between Mohan and
3. Air : Suffocation 4. Talent : Education-_ ) Suresh in the rank list.
5. Leg : Lame S 3. There are at the most five students between
7. In a certain code PATHOLOGIST is w'rm.en as Mohan and Suresh in the rank 115"...
PIUBQKSRHFN. How is EDNTRG\’EHST !Fr‘l'lfi‘ 4. Buresh'is five ranks lower than Mohan in the rank list. |
ten in that code? 5. None of these
1. SUOPDNXRQDLU %'SUQPUNZTEFW 15. @ travels towards East. M travels towards .i
3. QSMNEPXRGQDU 4. QSMHBPZTSFW North. S and T trnv&l in opposite directions. T
5. None of thess . travels towards right of Q. Which of the follow-
7
8. How many such pai/rs of El*g‘:ts are there in the ing i defimitely true!




5. Data inadequate
17. Which of the following means 'very' in that

code language?

1. na 2. da

3. pa 4. Data inadequate
5. None of these

18. Which of the following statements is/are redun-
tant to answer the above two questions?
1. None 2. (i) and (iii) 3. (ii) or (iv) 4. (i) or (iv)
5. None of these
Directions (Q. 19-20): Study the information given
below and answer the questions following it
Mohan is son of Arun's father's sister. Prakash is son
of Reva, who is mother of Vikash and grandmother of
Arun. Pranab is father of Neela and grandfather of
Mohan. Reva is wife of Pranab.
19. How is Mohan related to Reva?

1. Grandson 2. Son
3. Nephew 4, Data inadequate
5. None of these
20. How is Vikash's wife related to Neela?
1. Sister 2. Niece
3. Bister-in-law 4. Data inadequate

5. None of these
Directions (@. 21-25): In the following questions, the
symbols @, & $§ * and % are used as illustrated below:
P @ @' means P is not smaller than Q' '
P # Q means P is neither greater than nor equal to Q.
P $ Q' means 'P is neither smaller than nor greater than §'.
P * @ means P is not greater than Q'
P % Q' means 'P is neither smaller than nor equal to @'
MNow in each of the following guestions assuming the
given statements to be true, find which of the two conclu-
sions [ and II given below them is/are definitely true?
Give answer -~
1. if only Conclusion I is true.
2. if only Conclusion II is true.
3. if either Conclusion I or I1 is true,
4, if neither Conclusion I nor II is true.
5. if both Conclusions I and IT are trde.
21. Statements:
MSK, D#* K, R#K
Conclusions:
h LD$M A IILM%D
22. Statements:

H$EK, T#H,

Conclusions:
LK% W " onrper’” )
24. Statements: i,
N®A, A#L, \“_'/é/'/ /
Conclusions: /
LL%F +JF % A
25. Statements:
B#D, D% %M ‘

Conclusions:
LE#M . ]
Directions (§. : ch of the questions below
are given t-‘:r?;ixtﬂm follo by four conclusions
numbered I, If, IIMand IV. haye to take the given state-
ments to be irge etn_if they séém to be at veriance with
commonl \wn facts. Read all the conclusions and then
decide phich™ef the given fonclusions logically follows
;mm t iven stalements disregarding commonly known
cts.

a. Some boxes ate trees
b. Some trees are horses
c. All horses are fruits
Conclusions:

1. Some fruits are boxes

T 5. All follow ~
29. 7Statements:
v a. Some tablets are rains,
b. All dogs are rains.
c. All rains are chairs.
Conclusions:
L. Some chairs are tablets :
S II. All dogs are chairs
II1. Some tablets are dogs.
IV. Some tablets are chairs.
1. Al] follow 2. Only I, IT and III follow

F%M, M%R, E@F
Conclusions: )
IM%E ILE@E

23, Statements:

II. Some fruits are trees

IIL. Some horses are boxes

IV. No fruits are boxes

1. None follows |
2. Only either IT or TV follows

3. Only either I or IV and 11

4. Only either I or 111 and IV

5. None of the
27. Statements: i

a. All flowers are buses.
b. Some buses are cats.
c. All cats are tigers.
Conclusions:

1. Some tigers are buses.

2. Only III follows
4. Only IT and IV follow

3. Only IL, III and IV 4. Only III and IV follow
5. None of these
30, Statements:
a. No man is sky.
b. Mo sky is road.
c. Some men are roads.
Conelusions:
I. No road is man.
II. No road is sky.
III. Some skies are men.
IV. All roads are men.
1. None follows 2. Only I follows
3. Only I and III follow 4. Only II and III follow
5. None of these
31. If the alphabet series is written in the manner

AZBYCX ..... and so on; what will be the fifth let-
ter to the right of fifteenth letter from the left 7
1.9 P 3.4d 4.8
5. None of these
32. How many such pairs of letters are there in the
word TRANSFER each of which has as many
letters between them in the word as in the eng-
lish alphabet ?
1. None 2. One 3. Two 4. Three
5. None of these



33.

34,

- 35.

Dis nmtar of F. M is brother of F. K is brother of
D and son of T. R is wife of T. How is F related
toT?

1. Daughter 2. Bon

4. Son or Daughter 4. Data inadequate

fi. None of these

Four of the following five are alike in a certain
way and so form a group. Which is the one that
does not being to the group 7

177 2. 261 3.221 4. 133

5.91

Circumference is related to a circle in the same
way as a/an is related to rectangle

1. area 2. square

3. length 4, perimeter

5. cuboid

Directions (Q. 36-40): In each question below is given
@ group of letters followed by four combinations of dig-
its/ symbols letterd (1), (2), (3) and (4). You have to find out
which of the combinations correctly represents the group of
letters based on the coding system and mark the letter of
that combination as your answer. If none of the combina-
tions correctly represents the group of letters makr (5) ie.
None of these as your answer.

Letter T|A|lG|R|S[DIN[E[V][U[X]P

Digit/ .
Symbol | @ | 4| 9| #|%|3|e| 5 1|p| 7] 6

i. If the first letter is consonant and the last letter is

ii.

iii.

36.

a7.

38,

40.

vowel only the first letter may be coded and no code
may be given to the last letter.

if both the fist and last letters are vowels then both
are to be coded is $.

If the first letter is a vowel and the last letter is con-
sonant then the codes are to be interchanged.

DESGRT: _

1.35%9% 2. 35%74@ 3. @5%7E3 4. 350%4@

5. None of these

NERSPU

1. @54%6@ 2. @54560 3. GH#6 4. O5H%P

5. None of these Fas .

XNTPGA g

1. 708694 2. TO@964 3. 42@69 4. 70860

5. None of these o F
. ESVNTU L/

L $%16@% 2 5%10@p 3. $%108p 4. m@[sﬁ

5. None of these - _,f ™

L ©T6@9B 2.376@9% 3. ﬂfﬁ@ﬂ@ 4 ﬂ?ﬁ@gﬁ

5. Nnnnoflhese e o

Dimeﬁom MLEBJ W.Pmt._w ~come in p.im og"the
question mark (%) in tﬁe;‘dﬂawuﬁxquemum? 7

41.

z”mln .e'*/ ——

D 4 3
1,120 ; \‘zulﬁ ‘8, iaﬁ:’u’%’ 4.185.5
5. None u(thehe ~. S
100450 %2 =2 - o
1.300 | 2. 200 /3.7 4. 150
5. None of these
65% of ? = 20% of 422.50
1845 2 1;3 425 3.130 4.200
5. None of these
V53824 =7
1.232 2. 202 3. 332 4.242

5. None of these

45,

47.

© 107107 _ 100
0 - 10

1.13 2.10 3.1 4.5

5. None of these
Bordofbof 2l of 504 =7

B 7 9 24

1. 96 2,69 3. 108 4. 63
5. None of these

0.002x05="7

1.0.01 2. 0,001 3.00001 4.01

. B. None of these

5. None of these

49.

5L

/\ “t\ll.: bﬁ:dw

*

\

134514327
4 3 5 .

2.10 ﬁ‘\\a.}%\ 4.9 %

.

\
™ \\\ />
", .,

10007 + 108 = 7 ™ N

1. 1000 t/a—ie—-\ 3.100000 4. 100
5. None of these /S
mom +\sg?

2. 213\ 4.5
\\
Iﬁ ent ways can the letters of

102
1.10 5

G be arranged in such a way
always come together?
o 2,350 3. 240 4.120

xﬁ eaf 26

/ ~52.

1,120/ 2. 3360

s 54

Hg mln:.r different ways can five boys sit on
eight

L 3.1680 4,336 ,

5. None of these

-5_3. ‘Srikant is younger than Ram by four years. If

__/their ages are in the resective ratio of 7: 9, how
old is Srikant?

1. 18 years 2. 16 years
3. 28 years 4. cannot be determined
5. None of these

A sum doubles in five vears with simple inter-
est. What is the rate of interest?

1. 20° 2.10 .
3.15 4. cannot be determined
. None of these

A car starts with a speed of 50 kmph with its
speed increasing every half-an-hour by 10
kmph. What will be the total distance covered

by it in three hours?

1. 180 km 2. 260 km

3: 250 km 4. Cannot be determined

5. None of these

56. Which of the following fractions is in ascend-

ing order? i

1553671 255637
8'7T°4'7T'8§ B'7T"7T'4°8

3 13855 435857
8'4'7T'7'8 4'7'7'8"'8

5. None of these

57.

58.

59,

The difference between a number and its two-
fifth is 441, What is 18% of the number?

1, 131.3 2.133.3

31323 4. Cannot be determined
5. None of these

What will be the difference in simple and com-
pound interest at 10% per annum on the sum of
Rs. 1000 after four years?

1. Rs. 40.40 2. Rs. 64.10

3. Rs_ 31 4. Rs. 32.10

. 5. None of these

10 women can complete a work in 7 days and 10



children take 14 days to compleie the work,
How many days will § women and 10 children
take to complete the work?

LE 27
3.3 4. Cannot be determined
- B, Mooe of thess

60. A train running ai the spesd of 60 kmhour
crosses o pole in 9 seconds. What is the length
of the train?

1. 120 mctres 2. 180 metres
4, 24 matres 4. Cannot be determined
5. Kone of theas

61 The difference betwesn a two digit number and
ihe number obiained by Interchanging the twio
digits is 83, Which is the smaller of the iwa
numbers?

1.2 P
L7 4. Cannot be determined
&, Mome of thess

62 A product when sold with 10% rebate on the
listedd price gave a profit of Re70 What was lts
cost price?

1. Be. 700 2, Bs 380
3. Bs. 200 4, Canmod be determined
5. Nome of these

Directions (B3-67); Siudy rhe following groph o
mhswer the given gueationa;
Rate of interest on housing leans for different years.
e FLOATTNG

-u- FIXED
LG
15
i
e

T —— M .......

11— H‘}‘Ir

ol 2 T

s ssisies &

&3, For how “ﬂyﬂ&-mﬁ-ﬂﬂhm[;hd
and floating rate more tlmn 0.57

1.1 .2
8. None of these .
i Pﬂlheﬁunrm"htilthlﬂtrﬂuq:h"-.
thnlwmnnuﬁmlumdhtwnnﬂn{ind ;
Naating? y -
108125 205 3.-:4:.-:5 urﬁzﬁ'
&, None of theas o
65 Which of the fnlluwm;‘mhmnl&h nul.-'lru.u?
1. The flosting rﬂtrmﬂ.wunﬁw.arthanﬂm fized
tor all the given
a ﬁanumh:rl:}f"';mmﬁn rﬂ:ﬁw waos less
for flonting than that of fixed.
8 Each year thore wii a decling’in the fixed rate
tompared o the previius year
4. In neither of the rates was ﬂ-mreu.uymu'u:u
Ii'm;‘l.]ui-:d'ﬂupwa
B. The @ecline patern of the ﬂxeda.nd the floating
was nol the same.
6. Which year i the difference in rate of intersst
between fixed and floating the moximun?

1. 2002 2. 2001
3, 1996 & ]'9‘57 . 4. 200G 1
5, Mone of these

47. For fixed raote, which year is the per cent
ducrease fiom the previcus year the highest?
1. 202 2, 2001 L 20HH) 4. 2004
f. Mane of thess

Af A AN

.___F:Eut1BJﬂ

Diirections (68731 Whad coill come in plaer of the ques.
‘ion mark (71 i the folloudng partead
B8, 140 14T 1387 1598 151 134
1. 128 2, 14%
5, Nooe of thess
89, 1B 1D3THERET
1. 112 L 16T
5, None of thess
T Z4B3TTHE1IERE
1. 38 T 256 3. 64
5. Nome of these
T, 5 1040 T 1820 19200
1. 240 2. 160
fi. None of these aN
1 47162536 .{ e
110 28,
& None of the Th F
73, IS B2ETI3ATHEE . S
1. ¥78 —2o8n ., & Hil
&, Hunﬁpfthnn "'
Directions 114-80) Eack u,r"uu guestions below con-
Alats E;‘(ﬁuuman#tmn siatereenty numbered I ond IT

gFiven habe o decide whether the data pro-
sufficient to answer the ques-

{uﬁﬂﬁ

the gioferhents ond

"ﬁﬂ'hn: l.u.l'li'lril,_l.ifthr dats in statement | alone are
{ £ % anawer-the question, whils the data in state-
m along nt pufficiednt to answer the question.

w"--l';]I'l'-ﬁn.\__l.l'n.l:l'-ll- {2) if thie data in stafement [1 alons are
mnawer the queation, while the data in state-
ary not suffickent to answer the question.

“GHivp amawar (3 if the data either in stotement 1

_gJ:m.turmlh'hemtI[aJm:muuﬂ'm:rﬂwmdu
q'umun.
v answer (4) i U data even in both statements

3145 4. 147

A 118 4. 138

4. 14

i

4. 278

-. / Land I together are mot sufficient to answer the questsn.

Gilve answar (5 if the data in both statements I and
[l tngether ore necessary to answer the question
74. What is the speed of the lrain whose length s
210 metres?
I. The train ercases another train of 300 metres
Iu'lm.hrmmmgmu'ppulu:drn:unum 10 Bec-

Il Tfhe l.ram eroases ansther train Funeing o the
snmi direction at the speed of km'hr in 3sec-
ands.

75, What ks the simple rate of interest?

I. The total interest earned wos Ha. 40000

11, The sum was inweetsd for 4 yeara,

T8, What s the valume of & cube?

L The area of each face of the cabe is B4 sgoare
makres,

II. The length of one side of the cube is B meires.

7. What s the mumber?
2

L 40% of the number is equeal o Iwg .

1. 3% of the nomber is equal to 306 of 40,
TE. What is the two digit number?
1. Thie dilference between the two digita k= nine.
II. The sum between the two digits is nine
78. What is the per cent profit enrmed by selling
the product?
[. The profit earned was Ha. 50

II. Had it been sold for Re 310 the proflt would have
been Be TO-
B, What is the measare of three angles of & right
angled triangls?
. Mensore of ooe angle is 80° .
1L The sam of two angles of the trangle = 1207,



!_J_.'i-""_'ﬂ:_"l- '."l'-"";fl"r L :-:ﬂ.:'.':? i

Directions (81 « 85) : Bead the fulloydng passage
-carefully ond onswer the questions givée befow 4, Certain
weords [phroses are given in bold fo help you locafe fhem
while anewering some of the guestinns,

The genaral elections somelinwes are a good source of
funny storles, One of thess concerns o man who was the
MLA from our constituency. He hasn't been to our con-
atiluency minoe we sent him to the Assembly, Last monih
he was the party candidate, In dus course of time he
wrrived in our conetitsency bo ask for vobes. He took up
thi upaal poae of o humble leader, dhoti, kurtn, namasts
and & beawtiful amils on his lips. The umal speech fol-
lemred bt valuahle votes and *T have eonse te sere yos®
and & on and so foarth.

All this was happaning in bright sunlight. Even so he
must have more than & little surprised to see that quite a
fow of this sudlence were carrying tarches. At an inviashls
singal they switched them on and shown them foll into his
face. The questions they asked were, Who is this mas?
Have we peen him before? “He would probahbly have Ged
from the seence had not a minister, a wide grin on his
fwce, persuaded the villngers to switeh of{_ thair torches,
Bl. Why did people focus touches into the foce of

thie BLAT

1. They were unhappy with his speech

2. The MLA had nawer visited the constitutency after

being electsd

& They were adviesd to do so by the minister

4. They wanted the MLA to realise his mistake

i Monse of these
B2 Which of the following I:-ult describes the

meaning of the phrase more than a litthe sur-

prised?

1. Full of anger 2. Astomished

3. Happy 4. Aggrieved

&, Homi of these

83, Hew did the speaker pose before the andienss?

L A visibly upset look £
Z & beauntifull Hpatick on his lip
3 A pabsed humble ook 4
4. A wide grin on his face o
§. None of these A
B4, Which of the fallowing is TRUE m'rj.q.ﬂnntmr.
of the passage?
1. The MLA visited cur mnmtmw’al.'-m:yjm‘

2, The speaker was pol n.'u.rpn.E:I to I&]mnpll- 1

carrying tarches

3. The minister persuaded the au.dlentud n1t|: off
their torches A s s

4, mﬁﬁﬂﬂﬂﬂquﬁmm:mm~ L

5. MNooe of these

Bh. Why wers the pea umhn:hmlnﬂ
1. They wanted to ml,n:-iajb]a
2 The lecture wum—ﬁ,y:edmmz
3. They mudhﬂlﬂnmmm
4. Mmuﬂmﬂ&qurhl.ﬁepmbhnmuu
&, Mome of theas
B, Hhmd:dﬂtlﬂ.ﬁlﬂtlhﬁrﬂ.ﬂd
L. Immediataly after hel.ng: elected
2 Dnmvlar'hhmmdmpu
4, Two months belpre the slection
4. Before thiegloctiof
5. None of thess
a7. Wthdthehﬂnwh'hﬂﬂfmuhm.
text of the passnge?
1. The MLA never came to the constituancy during
his tenure

2. The speaker wanted to run away from the scence
3. The villagers switched off thedir torchas
4, The MLA wan surprissd to ses the torches
5. Mooe of these
B, Who wos the party candidate?
I The cx-minister
2 The speaker of the asembly
3. The person who persuaded to switch off torches
4. The ex-MLA
fi. Mone of thass
B8, Which of the following surprised the MILA?
1. The invisible signal
2. The apgplanse of the peaple
8. Thnmhbmﬁ”{.d‘.&qu
d. A wide grin of tha EI.I:I'I.I:I-LEI."'
5, Mane ul'lhm P

Directions (S0-82) M}me
mr{yﬂummmﬂiﬂ;ﬂaﬂu given in bold as
wsedd in B pesadge.

80. Grin -
1 dm:ph m " -'El.mrk 4. emile
-5 a_,ﬂpa;.-;,.- . __."

'Lm::(:x s o
A F ,r' S 2, splesdes

&

/ E‘ﬂ{-{nﬁ ," 4. dramas

ﬂ-\h ﬁ}ﬂ et . -\.-';-.
Fa 2. atage
- "'-a‘am%i.u 4. sight
' 5. spat’

— Nrtrﬂﬂ-ﬂi-l’ﬂ«m Choose dhe word which (s most
Mmmmmmﬂumrﬂ'mm in bold vs ueed in

S——

W r bhe
¥ /84, Beautiful
VY 1. harsh 2 ugly
xx"-__ :} 3. shrewed 4. canning
-, ¥ 5. had
S se Beight
1. shining 2 calm
3. coal 4. dull
fi, dim
85. Humhle
1. excited 2 made
. pamicky 4.
. nnxicas

Directions (86-110) : Read each sentence to find et
wieether there is any grommationd error ir it The aeror, of
mny will be in ane porf of the sentemee. The numcher of that
part is the arswer. If there (3 no erroe, e anewer ix (5],
(ignawe the errarg of puncfuation, | eayl
88, By the time (1) we reached there (2} the seminar

[3)/ hind begun_ {4} ! Mo errar (51

&7. 1 was to shout (1) / go owt of oy hoass' (237 when it

enddenly (31 atarted raining (4) / Mo error (5.

B8, All the committee (1)  members except one (21 7 of
them was present (3) 4 in the meeting (41 ¢ Mo error

(111
B8, When there was (L1 no one at home (2} o thief came

in (3} ard rob the house (4) 7 Mo error (55
10D, Why can't be be (1) held guilty (20 /i all evidence

{3}/ is aganist him? (4) ) Ko ervar (0,

M. Prachi might hava (1) / did this (2} / with some gelf-

ish {3} { thought in mind, (4)/ Mo errar (5).

102 He went ingide (1) ¢ the burning houss (2) / even
thoagh | sdvised (3¢ him to do not go. (4 No crror

Gk
10k Orwing for this (1) reason they did (25§ me wark (3¢

for the institution. (4] Mo arear (6,



104, Although Sudhir ran (1) / very fastly, he (20 / could —

not eateh (3) 7 the moving train, (4) / Ne error (5)
108, India began (11 his nuclear ecergy (211 programme
during {3 the last fifties. (4)/ Ko errer (5)
106, The Director prefers (1) vour propesal thon (25 that
is given by (31 the other managers. (4){ Mo error (5],
107, 1 requested my ¢ 1)/ daughter to remain there (21 /il
I come back (311 firom the shop. (4} ¢ Mo error (5,
108, The Eactory failed (1) /w0 supply the goods (2} on
time and 80 (3) / the order was cancelled. (4} / No
error (5l )
109, Orar country have 117/ the largest number (21 of edu-
cated apemployed (31 i the world, (43 No error (59
110, The captain frightened (1) that his army weald (21/
be surrounded (31 ¢ had begun. (41 Mo ervar (5]
Directions (LR -1250 I exeh of the following ques-
tion, five words e gicen denoted By (1), (20 (3L 4 ond
152, By using all the five words, each only anee, you have to
frame a meariagful and grammativally correet sentence.
The correct order of the words is vour oasaer, The ffve
words may be arranged fo form one or more eaningid
ssntanees. Howeper you have the one howing he cornect

arder of the words.
1L A Him B. The
C.To D. Charge
E Handover
1. DEBACA 2. EACDH
3. DACER 4, DEBAC
5. EBDCA N
1z A Doctor B His
C. The . Cembiraed
E. Practice
1. BEDCA . . CADBE
3. BECAD 4. ERCDA
5. EBCAD
A A Golng B. Shilpa
. Him I, Crat
E. Saw {-’
1. CADBE | 2. BECAD .
%, ADBEC 4. BADEC FA "
& BECDA SN N
4 Aln B.Some . 7
. Pat . If VA e
E. Sagar . £
1. BECDA 2 BCBAD
3. CEBAD 4, GBEATY .
fi. ADBEC [
L& A At BR T
C. Onee / Bt S
E. Pleass ., 1 -
L BDACE - ME
sacEBD 4 E-Dﬂm
5.ACDEB / 3

Dtrlrﬂnlll I'Hi-]’:ﬁ'ﬂj‘ In Hr!’ sentence below, one
word has beeh pringed in hold, Below the sentence, five
umdlamawwm'mql'mhmhm replace the word
printed inbold aithowr chunging the mexning of e gens
taiee. Find out the eppropriche word in oech cast,

116 The bathroom is at the pear side of this house

T-left | 2. g
3. upiper 4. back
B fromt -
17, Tt was evident that the purse was stolen by the
servani
1. ngresd 2, known

3. told . 4. reporied

&, claar
UA He is considered by everyone as & man of |
inteeyt
. 1. wealth 2, power
3. charaster 4. personality
b, unity
118 The aecident cceurred due to his lapse
L. ignorance 9 prTer
3. sleep 4. Teaste
f. trick
12D Tt is mot the proper place to disoess this matter
1. real Z. penuine
3. mrrnd ;-x{ perimanent
5. right

ﬁnf 13

1213 Which of the Ilnw‘ing SHI_-E:S on the United
Nations ud_d_’_l Durism’ E]{fumz.ulmn
{'I_INWTIEI-] [Ilysses awarg or sustainable
tourism in-January_ 2073 7
1) Sikki . 24 & Kashmir 3) Kerala
4) Rajasthan 5) G
122) fhe pét ,(fmjumttﬂr on Economic AfTairs
e {EE;EA} Emarsled approval for foreign equity
i, p‘amlciﬁun:m ap to 74% of the paid up capital
“jn 'Mm:h ‘ofthe following banks in January
—_ 20147
17 ¥esBank 2} South Indian Bank

-3} Kaffur Vysya Bank 4) Federal Bank

- 5} Lakshmi Vilas Bank
|23} is the present Chairman of the Chiefs of
" Staff committee (COSC)

2 1) Bikram Singh  2) N.A_K Browne

\ s 3) Arup Raha 4) E.K. Dhawan

5) None of these
124) Which of the following public sector banks
launched “connect card’, tarpeting young
individuals in January 20147
1] State Bank of Hyderabad 2) Canara Bank
3) Corporation Bank
4) Oriental Bank of Commerce
5) Indian Owverseas Bank
125) Junbeel Mela is an annual heritage festival
celebrated in 7
1) Assam 2} Himachal Pradesh
3) West Bengal 4) Arunachal Pradesh
5) Odisha
126) Mest Labs was acquired by which of the
following companies on January 14,20147
1) Face Book  2) Google 1) Microsoft
4) Amazon  5) None of these
127) Dhanu Yatra , a drama festival, was
celebrated in which of the following states in
January 20147
1) Odisha  2) Karnataka 3) Maharashtra
4) Rajasthan 5) Andhra Pradesh
128) Arrow 3 or Hete 3 15 an anti-ballistic missile,
Jointly funded and developed by the LSA
and?
1Mran 2) China 3} Israc] 4)Pakistan 5) France
129) “With Malice towards one and all™ was the



popular weekly column written by 7
1) ML) Akbar 2} P_Sainath
3) Shekhar Gupta  4) Prabhu Chawla
5) Khushwant Singh
130} Who received the order of the Rising Sun,
Gold and Silver Star by the Government of
Japan recently?

1 }JAmartva Sen 2) E.Sreedharan
3) C.Rangarajan
4) Raghuram Rajan  5) None of these

131) With regard to share market,FPO means?
1) Final Public Offer  2) First public Offer
3) Follow on Public Offer
4) Forward public offer  5) Mone of these
132) Riots took place in little India recently. Little
India is an area in?
1) Singapore 2) Malaysia 3) Indonesia
4) Philippines  5) Mauritius
133) Which of the following is related to Blue
Eevolution ?
11 Horticulture 2)Floriculture 3) Pisciculture
4) sericulture  5) None of these
134) The National Judicial Academy is located in 7
13 Pune 2Bhopal 3) Jaipur 4} Paina 3} Hyderabad
135) Which of the following metals is used in
spacecrafi to withstand high temperatures?
1} Iron 2) Titanium 3) Silver 4) Copper 5) Lead
136) Foreign exchange reserves include 7
1) Foreign Currency deposits  2) Gold ;
1) Special drawing Rights 4y All 1,2 and 3
5) Mone of these
137) Indian off-spinner R. Ashwin was given
which of the following awards recently 7 .
1) Colonel C.K. Nayudu award Vo
2) Dilip Sardesai award <
1) Polly Umrigar award e
4) ICC emerging cricketer of the year aum'd.
51 None of these
138) Which Indian Scientisi was award,ﬁd Hi'eﬂ-ﬂ.'ll."l'
of merit of Russia in December 20137 ¢
1) G.Saweesh Reddy  2) V.E. Saraswat
3) Tessy Thomas ~ 4) Aw.:a'ﬁgahﬂ&mdef--
5) A Sivthanu Fillai {
139) India has signed the $1.01 hnllmn d’eal with
which of the following countries for six
additional C-130] Super Hertules ircraft 7
1) USA 2) UK 3), Frmg:‘ﬂ]mﬂ:mngn:.' 5) Japan
140) San Miguel or Chaparrastiquevodcano has
erupted recently. ft i located in 7
1 Indumm 2 Ecupdor_3)E1Salvador
4) Mexico”|  5) Philippines

141) The largest foreign exchinge reserves are held

by the central-bank of which of the following

mtmtr]ﬂ; Fi /
13 Japan 2) Ewnm&ﬂand
4) Chini-. 3) Brazil

142) Naira is the-cuirency of which of the
following Africa countries?
1) Mozambique  2) Namibia
4) Tanzania 5) Migeria

R
1\.

.,
ks
et

3) Saudi Arabia

3) Rwanda

T

y
W
¥

143) Which of the following is the capital city of
Switzeriand 7
I}E.uricll 2¥Geneva 3) Basel 4) Berne 5) Lausanne
144) 1dentify the mismatched pair?

COUNMTRY CURRENCY
1) Afghanistan Afghani
2) Chile peso
3} Israel Shekel
4) Ukraine Hryvnia
5) Mexico Dollar

145) Who was honored -.uth the ltihas Ratna by the

Asiatic society B pectmh:r 10137
1) Ramchandra G omila Thapar
3) Mridula Mukherjee H4] Chandra

5) None of thesé,_ ™~
146) Shakira is a pop E:Tn&l:l' me

[IUSA 230K 1) Brazil -1]
147) Identify the musmmhad

ongs to 7
lﬂﬂ'lblﬂ 5y Mexico

_ AI.J |1 1OR
1) A Haw / Virginia wooll
2) (Fod thﬂtr Mario Puzo
rime  anil Pmlal:m:nt Fyodor Dostoyevsky
ise Rigained John Milion
ﬁ]-'i"n: larid Ernest Hemingway
]43) A.s the arder of RBI the existing No-frll

-mquril; may be treated as..........
1) Basic gavings bank deposit account (BSBDA)
7 Basi¢ savings book Deposit Amount (BSBDA)

—--3) Basic '5|'.'||1.ﬂ bank deposit amount (BSBLA)
4) Basic savings bank deposit account (BSBDA)

.'H"*-..,

;4]‘4.:'

N "5y None

iﬁ'iEI} In Which Monetary policy review, the
/' introduction of BSBDA proposed by RBI 7
1) Monetary Policy Statement for the year 2013-14
) Monetary Policy Statement for the year 2011~
1) Monetary Policy Statement for the year 2009-10
4) Monetary Policy Statement for the year 2012-13
5) Monetary Policy Statement for the year 2014-13
150) One individual can have how many BSBDA
accounts in one bank as per the order of RBI?
1) Three 2) Two 3) Four 4) Five 5) One
151) The Basic savings bank deposit account
(BSBDA) scheme of RBI to be opened in
which of the following banks?
1) Public sector banks
2) Private sector banks
3) Foreign banks operating in India
4) Foreign banks operating in foreign
countries
531 &2 &3 only
1 52) Whether the account holder can open another
savings account or permitted to continue his
old savings account, afier opening of BSBDA?
1) Yes it is the right of customer
2} Yes, if he takes special permission from
Goyvernment of India
3) Mo, he should close the other existing
savings accounts and he is not permitied o
Open NEW SaVINEs dCounts
41¥es provided he pay penalty of Rs.1akh w
bank 5) None of these



133) The balance to be maintained by the customer
in the BSBDMA i37
1)Es 1000 2)Rs.500 3) Bs 250 4) Rs.50
3) Mo, minimum  balance required
154) To open the BSBDA, the initial deposit to
open the account musi be
1})E= 100 2)Re10 3) Rs 1000 4) R 5000
5) Mo initial deposit needed
155) The Facility not available in the BESBDA is
1) deposit amount
2) Withdrawing of cash
3) Using ATM/ Dehit card
4 Taking sccound stalement
51 All abowve facilities available
156) As per the order of RBI, the total credits in the
BSBDA should not excesd ... in lakhs)
1)1 Lakh per year 2} 5 Lakh per year
3) 10 Lakh per year  4) 8 Lakh per year
5) 2 Lakh per year
157 Maximum balance in the BEBDA.....at any
time?
1) Should not exceed Rs, | Lakh
2) Should not exceed Rs. 2 Lakh
3) Should not exceed Rs. 50,000
4) Should not exceed Rs, 10,000
5) Should not exceed Rs. 3 Lakh
158) In the BSBDA account,the total of deposit by
wiy of cash withdrawals and transfers will not

1) In & year 2) In & quarter
3) in the two months 4 In a month
5) In the & months
1 59) Reserve Bank allowed wriban cooperative .
banks{UCBs) with total deposits of over. < to
graduate to scheduled bank calegory B
1y R=.1750 crore 2} R 150 crore

.
-,

3)Bs. 750 crore  4) R5.500 crore *i,} Hnm k

160) On 6 April 2014,SBI selling off iss pony’

performing assets (NPA) of around 35,9{5 o

4000 crore for the financial ycaﬂﬂﬂ Hh

1) Asset Rebuild companjés - \
2y Account E{mnsuw:hqn E-'CllTlp-__Hl'll:S |
3) Asset Roll companies ;

4) Arbitrage Reconstruction cﬂu’:ﬂpﬂnﬁ

5) Asset Reconstruction companies

161, Elements urm-nq‘mn H:ﬂuimﬁ
1. Participation of E:n'lplpylm i
2. Time of Dpcision, Making
3, Comtipiaity '
4.1,2amd3)
5. Mo of these

162 Tick the approriate decision taken by
MonagersUificers of a firm time (o time:
1. Policy Decisictis 2. Dmgandsational Decissns
2. Routine Decigions 4. All of the above
&, Mome of these

16L Income of the consumer, Age of the consamer,
Education of the consumer, Religion of the con-
sumer ore the bosis of-consumer market

1. Ecgmenting 2. Programme

1 Bukstantiality 4. Marketing
5. Mone of theeg
164, Classiffication of buying motives was done by-
1. Melvin 5. Hatlwic 2, William Fedrick
3. Philip kotler 4. Praf. Mayar
5. Nooe of thess
16, —eapital and—capital are managed under the
Munngement of Marketing Finance,
1. Fixed 2 Working
3 1and 2 4. Mot reducing
A, Noow of these
166, "Product is A cluster of psychological satisfsc-
thon™ was said by
1, Gearge Fisk _.-"' T, 1 Philip Kotler
3, Wilkiam 'F"rndnrj:x a“'-'lﬂhﬂ Marshal
5, Memn of thesa .

187, Quality im ut:'qw m.'la improve- |
ment strategy ive uwhqn '
1. Produck Madifieatinn Strabagies .
2. ]"‘rudil:rrz- IIJ'HIE,E_“' . arketing siratagy !
4 qutqutrmamﬂ- 5 Bome of thease

'I.H./zfa ||:I.in thecunl_:ut of Rural marketing "if |

buying merely 1065 indos- |
this industry will get five

qmm ﬁa_l' #FR.
3; %, 1. By, Manmoliin Singh 2. Sh. J R.I. Tata
™, ‘q Philip Kotles 4. John Marshal
+ % 5.'Poone of these

lﬂ t was the time period of the first stage of

“devolopment of murketing development was—

1, 7500 1o 1890 2, 1900 to 1930

B A, 1998 to 15499 4. B0t 20001
/&, Mone of theas
170, Time poriod of the secand of Marketing man-

agement development was—

1, 15HHp b 15300 2, 1901 t2 1570
3. 1930 to 1850 4. 2O} to 2004
5. Meone of these

171. The period of third stage of development of
Markeding managemeni was—

1, 1930 to 1950 2, 1950 ta 1950
3. !I'BEI]-_t-a Lill now 4. 190} to 1820
&, Moma of the=sa

1TE Which wvear is being freated as the beginning
yeor of Marketing management development?
1181 2. 1920 3. 1937 4. 1570
5. None of these

172 "Middlemen are nothing but social parasites
nnd the sponer they are eliminated the hettor
for society”. This statement is related with:
1. Advantages of Middlemen
2, Disadvantage cansed to consumens due to middiemen
A, THeadvantages caused to Producers
4. Thsndvantages caused to Government 'Rng'u'lnunnnl
5, Kome of these

174. Under Baslie Marketting:
1. The salesperson simply sells the prodact |
2, They anawer the querstsins related to products
3. Marketing Research
41, 2and 3
5. None of thess

175 Factors affecting product mis:
1. Changes in Market demand
2, Production eapacity
3. Marketing capacity
4, All of the above
5. Mome of thess



176, Main shjective of any business activity is:
L. To increass marketing capoity
2. T maximise profits
3. To increase production chpacity
4. Al of the above
5. Wome of these
177. A Brand reeeives such legal protection under
the lnw after it fulfills certain conditions
1. It is mot similar to any exieting tesde mark
2. It doss not hurt the religious sentiments or feel
inge of any individual'srganisntion
4. Tt is not Yikely to desire or caisse confusion
4. Al of thi abaove

5. Moo of these
178, A heand which is owned by & mamafacturer and

registered under his name is called—

1. Trade Mark 2. Mamufacturer's Brand
A, Mixed Brand 4 Brarnd
5. Kona of these

178, A Brand which is owned by a distributer and
registered in his name is called:
1. Trode Mork 2, Manufnctorer Brand

& Distributor's Erand 4, Brand

5, Mone of these

1580, A bhrand of company which is used by munafe-
turer as well ns distribltor is callod—

1. Manufacturer's Brand 2. Distribator's Brand

% Mixed Brand 4, Trade Mark
5. Mome of these

El. How many kilobytese make o megabyte?
1, 128 2. 1024 3. 256 4. 512
b. 64

182, In order to delete a seatence from a decument
v woubd ws———
1. highlight amd copy
3. scanfing it
5, anlect and pasie

153, Editing n documsent that has been created m

2, eut and paste
4. highlight and delete

1. saving # 2. printing it I H“m
3. sennning it mmn:ﬁngit H.x
5. Mone of these
184 m:ump-ur.hullurhhdmtn!zh
1.4 2.8 318

B84

mmhnrmm‘wh@a-mﬂu

computer?
1, Translate inatraction dihw M&Tﬁﬂnﬂ:m
maching langange

2. Tramalate emtire m&g{-ﬁ:ﬁp’[ﬁuﬂ&lﬂﬂm-
fEREe program

0 [} il'i.mm'l?&iffig%'u E:MH_IJ._‘
4, Is o transla —
5. Is useful tf run pedgram
156, Enyhuﬂ.;h,\u n.ﬂ:[nl.:mphunﬂm CXRMm-
ples of ———— .
i ml‘hnl,ure 1r::lgnm H,_,.-“! impurt devices
. 3 _;ruu:ul,tdnmul- _.-" 4. utilities
f:;_!'-l'nnu"ﬁfthm S

147, ln-:ﬂnqnl,.th nts of the active cell are dis-
played U‘$m—

1. foater cel 3. task bar
4. e bar &, formula bar

184 When machine instructions are being executed
by & computer. the instruction phase followed
by the execistion phase is referred to as ———

2. machime mnstroction
4, task eyela

1. program eycle
3. execution cycle
fi. maching cycle
188, In windows ME what does ME stand for?
1. Millermium 2. Miere-Expert
3. Macro-Expert 4. Muli-Expert
G. My-Ezpert
1% Which of the following refers to the fasiest,
higgest and most expensive computer?
L. Motebooks 2, Parsonal compatars
I Laptop 4. Bupercomputer
6. FDA's

1891. Which is mol a basi tion of a computer?
1. Aroept and da

Z Aeoepl inpu%m data

4 Store data . 5. Scarpext

182, Which of the a term pertnine

ing to Email? "

i Fo

2. dnbox 3. sender
‘M__{Hm of theas
¥ as printers and moni-

b
P8 A hardware 4.information

X th
gﬂwﬁﬂnﬂ-g is required to crente
I browss 2. internet

eiitor
of thess

d. senrch engine

'“-i-ﬂ__. language is directly understood by the

q-q.npnul without translation program?
T BASIC language 2. Assembly langaage
‘3, High lewel language 4. C language
5. Machine language

{3 188, To insert o page break in a WORD documeni,

the following options are ased
1. Insert and eopy 2 Insert aned Enter
3. Insert and Delets 4. Ineert and Page Layout
5. Insert and Break

&7. Which of the following identifies o cell in Exeel?
1 formula 2. Bame . labal 4. pddress
5. Mone of theas

188, This is the part of the computer system that
one cannot towch

1. Hardware 2, Printer 3. Mouse
4. Scanner 5. Bolbware

189, A computer's ROM is
1 ALL 2. computer softwars
. operating syatam 4. pomputer hardware
5 CPU

200, While selecting multiple Worksheets in Exeel,
the fallewing key must also be wsed when click-
ing the sheet tab
1. Bhift 2 Ale
5. Bac

4. Ctrl 4. Insert



SRI KRISHNA VENI BANKINGCOCHING CENTRE KEY SHEET -15

1)2 2)5 )1 4} 1 5)3 6)4 7N )1 9)5 10) 4
11) 2 12)4 13)1 14) 2 15)4 16) 4 17)3 18) 5 19)1 203
21)3 22)4 23)5 24)2 25)2 26)3 27)4 28)3 29)5 3011
31)1 32)4 33)4 34)2 35)3 36)2 37)3 38)4 39)1 40)1
41)4 42)2 43)3 44)1 45)4 46)5 47)2 48)2 43)1 50)5
51)5 52)5 53)5 54)1 55)5 56)1 57)3 58)2 59)2 60)5
61)4 62)4 63)4 54)1 65)3 66)5 67)1 68)2 68)5 70)2
71)1 72)5 73)3 74)5 75)4 76)3 77)2 78)1 78)2 80)3
81)2 82)2 83)3 84)3 85)3 86)4 87)5 28)4 83)5 90)4
81)5 92)5 93)2 94)5 95)2 96)5 a7)1 98)3 99)4 100)5

" 101)2 102)4 103)1 104)2 105)2 | 108)2 107)3 108)5 109)1 | 110)1
111)5 112)2 113)2 114)4 115)4 116)4 117)5 118)3 116)1 1205
121) 3 122) 4 123)1 124)5 125)1 126)2 127)1 128)3 129)5 130)2
131)3 132)1 133)3 134)2 135)2 136)4 137)3 138)5 139)1 140)3
141)4 142)5 143)4 144)5 145)4 146)4 147)5 148)1 149)4 150)5
151)5 152)3 153)5 154)5 155)5 156)1 157)3 158)4 159)3 160)5
161) 4 162)4 163)1 164)1 165)3 166)1 167)1 168)2 163)2 170)3
171)3 172)1 173)2 174)1 175)4 176)2 177} 178)2 179)3 180)3
181)2 182)4 183)4 184)1 185)5 186)2 187)5 188)5 189)1 1904
151)5 192)1 193)3 194)3 195)5 156)5 197)2 198)5 195)4 200)3




1. (2]

2. (5
3. W
4. (1)
5. @)
7. M
11. (2)
12. (4)
13. (1)

rIemB =>5 Eza% A:&* M=>K,,
C=§0=TM=KE=%
- BOMB = 57TKS

Here specific letters are; E, M, A and L. Word
formed with these letters are as follows.

1. LAME 2. MALE 3. MEAL

Since, no. of words formed by the given letters
15 more than two our answer is choice 5.

Choice (1) is Prime number

They are synonymous,

Except bat others are birds whereas bat is a
mammal,

Lack of first one causes second one.

Henee, CONTROVERSY will be written as
SUOPDNXRQDU

Here the given numbers are:

517 -325 639 841 792

After reversing, the numbers become as follows:
T15 523 936 148 297

When arranged in descending order the num-
bers become as follows:

936 T15 523 297 148

Now, the third number from top is'523. Hence,
the last digit of 523 is 3.

After interchanging the first and the second
digits, numbers become as follows:

157 235 369 481 972

When arranged in descending order the num-
bers become as follows:

972 481 369 235 157

Here, the second lowest number is 235,
Hence, middle digit of 235 is 3.

If the positions of only the second and the thira

digits within each number are interchanged, |

the numbers become as follows:
671 352 693 8514 729

Now, when the numbers are arranged in

dﬂ&cendmg order, we get.

814 729 693 571 352

Here, 729 is the second highest 't

Hence, the first digit of 792 iz 7.

15. (4) We have been given that Q travels towards
East and M travels towards North.
Now, T travels towards right of @ implies that T
travels towards South. Hence, S travels towards
North (because S and T travel in opposite direc-
tions). Therefore, it is definitely true that M and
S travel in the same direction ie North.

(16-18):

pit na sa = vou are welcome ......... (i)

na ho pa la = they are very good ..... (ii)

ke da la = who is good ....... (iii)

od ho pit la = they welcome good people .... (iv)
code for

a. 'good’ is la [from (ii), (iii) and (iv).
b. 'they’ is ho [from (ii), {iv) and (a)].
¢. 'welcome’ i pit [from (i) and (iv].
d. ‘people’ iz od [by elimination in (iv}]
e, 'are' is na [from (1) and (ii}].

f. 'very' is pa [by elimination in (i1)],

16. (4) 17. (3) 18. (5)
2L (3 M=K ... (iD= K.. (i
R <K ... (iii)

From (i) and (ii},
M=KzD=M=z=D )
Hence, either M > D (conclusion I or M = [
{conclusion I) is true

22. (4) F=M ...... iy M=R ... {ii), E= F .... (iii) From
(1) and (iii}, no specific relation can be obtai ned
between M and E. Similarly, no specific rela-
tion can be obtained between R and E.

23.(5) H=K ..... i, T<H... (i)
Ws=T... (iii)




24. (2)

25. (2)

30. 1)

31. (1)

From (i), (ii) and (iii), we get
K=H>T=z=W = K> W (conclusion I) and T <
K (conclusion 1I).
N=A..(ikA<L..GiyF=N... (iii) From
(i} and (iii); we get

F =N > A = F > A (conclusion II). But no spe-
cific relation can be obtained between L and F.
Hence, conclusion I is not necessarily true.
B< D...(i;D=M.. (i) '
F=M ... (iii) )

From (i), (ii) and (iii), we get
F>M=DzB=E=M and F > B (conclusion II).

Since B = M, therefore conelusion I is not nee-
essarily true.

=
Sy

5th to the right
AZ BY CX DW EV FU GT [H|SIRJIQKP
U

S v
32. (4)TRANSFER
M

33. (4)
34. (2)

a5, (3)

Option (1) : Tx 11 =77

Options (2) : 29 x 9 = 261

Options (3) : 13 = 17 = 221

Options (4) : 7 x 19 = 133

Options (5) : Tx 13 =91

Except (2) all are multiples are prime num-
bers.

36.(2)DESGRT

Lilidl
I5%9%@

a7, (3)

38. (4)

39. (D

40. (1)

41. (4)

42. (2)

43. (3)

44. (1)

45. (4)

46. (5) 7

47. (2)

49. (1) 7=

50. (5)

NERSPU

Lillil-

2H#%E— (rule i}
XNTPGA

MLl

?@@65_ (rule 1)
ESVNTU

IR,

$%10@8%  (rule ii)
UXPTGN

LLllll

©76@9p  (rule iii)

7= 11,106,49 371 _ 1555
4 7 11 2

7 = 100 + 100 = 200

65% x ? = 20% x 422.50

20»x422.50

.} = -
=1 6 130
V53824 =232

10.? - 10'?)(1']2
10%

= 107 = 1072+
[, afxal=at* gMgl=g™n]
= 10" = 108

=7=5

48.(2) 7=

=95129 9 29
=9+1g5=10 &5

5 _ 10007
10T

7 1
_ {lﬂaj lg'g 410}2]—]3 = 10‘3 = 1000

ST

9 2 1000 _ ,
T



51. (B)

52, (8)

53. (8)

54. (1)

55. (5)

There are T letters in the word BANKING,
including 2 vowels (AJI) and 5 consonants
{B,N,K,N,G). Considering two vowels as one
letter, we have 6 letters in which W' comes
twice. Therefore, these 6 letiers can be arran-

ged in % ways. But corresponding to each

way of these arrangements the vowels. A,I can
be put together in 2! ways. Hence required

8l 491 = 6!

number of words = o]

=Bx5x4x3x 2x1=T20
The number of ways in which 5 boys can sit on

§ chairs is same as the number of arrangements
of 8 things, taking 5 at a time. Hence, the

. _&p._ _ 8 8!
required number = °F, = ey
=Bx?xﬁx5x4x3!_5720

i
Let the present age of Ram of x years.
. Age of Srikant = (x—4) years
= Ej: T

9
= Ox=-36="Tx

= 2x=136

xr% =18

-, Age of Srikant = x — 4 = 18 - 4 = 14 years
Let the principal be Rs. x

- Amount = Rs. 2x

Interest = Re. (2¢x —x) =Rs. x

1. = Pn:nnipalxl‘imexRat.e
T 100
% 5§ » Rate
= X= 1

». Rate = % = 20%

Distanee covered in 1st half an hour
= % =25 km

Distance covered in 2nd half an hour
='% = 30 km. and so on

.. Distance covered in 3 hours

=25 + 30 + 35 + 40 + 45 + 50 = 225 km

57. (3)

58. (2)

59. (2)

5 _ 5 _
2= 0.625, % =0.714
3 6
$0.75, = 0.857
—T —
5 = 0.875

Clearly, 0.625 < 0.714 < 0.75 < 0.857 < 0.875

. &5 8 &8 .8 .3
MR T R ST S
Let the number be x

NPT
o 5 441

B — 2x
5 .

= Jr=441x5
_441=5
-8

= 441

=4

. o = Tab
Now, 18% of 735
_18=T736 _
=0 - 132.30

_ 1000 x 10=4 _
S'I'_—lﬂﬂ = Ha. 400

= 1000 x [w]

10000

_ 1000 x 4641
10000

-, difference = Rs. (464.10 — 400) = Rs. 64.10

+» 10 women can complete the work in 7 days

= Rs. 464.10

- 70 women can complete the work in 1 day
Again,
.+ 10 children can complete the work in 14
davs
- 140 children can complete the work in 1 day
~ 70 women = 140 children
-, 1 woman = 2 children
- 5 women + 10 children

= (10410} children = 20 children
Now, 140 children can complete the work in 1 day

140 _ days

- 20 children can complete in 20

P — e




60 (5) When a train crosses a pole, it covers a dis-
tance equal to its own length

~. Length of train = 60 xlﬁ'—sx 9 = 150 metres

61. (4) Let the two digit number be 10y + x

. New number = 10x + ¥

10y + x — 10x — y = 63 ‘

=0y - Ox=

=y-x=7

Here, following numbers are possible which
satisfy the above equality
70,7,92,29,81,18and T0-7=63,92-29 =
63,81 - 18 = 63

Hence, at least three samller numbers are possible

62. (4) Let the marked price be Rs. x ‘

90
= Selling Price = 100 xx = Rs. 0.9x

Profit = Ra. 70
Rs. (0,92 - 70}
So, x is to be known

.~ Cost price =

63. (4) The difference in fixed and floating rates was
more than 0.5 in the following year. )
1996, 1997, 2000, 2002, i.e, 4 years
64. (1) Average of fixed rates
_ 16416+15.5415414+412.5+11 +10.5 - 110.5
B 8 8
Average of floating rates

15+15+15+14.5+12.5+ 12+ 10+ 10
8

_ 104
B

-, difference

110.5 - 104

3 = l]..8125

Or
which of difference of fixed and floating rate
Required average

l+l+ﬂ5+ﬂ 5+L5+0.5+1+0.5 g5

Statement (3) is not true. For the years, 1996,
1997 the fixed rate remained same,

65. (3)

36. (8) The difference in the fixed and floating rates

was maximum in the year 2000.

67. (1) Percentage decrease in fixed rate :

In 1998 = \16-16.5) . 145
=%——- gl-3125
In 1999 = 155160 , 160 = 3998
15.5
In 2000 = 151;““ x 100 = % = 6.67
In 2001 = 14 ;‘;2-5} x 100
115:' Tf' 10.714
(12.5=-11) 150
Inﬂﬂﬂ'ﬂ_—ma » 100 = T =12

_ (11-10.5) _50 _
In 2003 = H=2020 5100 = 22 = 4.56

Obviously, it was maximum in the year 2002
68. (2) 140 147 138 149 136 151 134

L AL AL AL AL AL A

+7 -9 +11 -13 +15 -17

149 will come in place of the gquestion mark
69. (5) 18 + 19 =37 .

37 + 19 =56

56 +37=93

93 + 56 = 149
70.(2) 2x4=8

8xd=32

32 % 8 = 256

256 x 32 = 8192

256 will come in place of the question mark
TL (D 5 10 40 240 1920 19200

!_}LJLJLJ[_J

x4 -x6 =8 =10

240 will come in place of the question mark
72.(5) 12=1

22=4

-9

42 =16

52=25

62 =36

9 will come in place of the question mark




60 (5) When a train crosses a pole, it covers a dis-
tance equal to its own length

=6Gx_f'—3x 9 = 150 metres

vet the two digit number be 10y + x
- New number = 10x + ¥

10y + x — 10x — y = 63 ‘

=0y - Ox=

=y-x=T

~ Length of train

61. (4)

Here, following numbers are possible which
satisfy the above equality
70,7,92,29,81,18and 70— 7 =63,92-29 =
63, 81 - 18 = 63

Hence, at least three samller numbers are possible

62. (4) Let the marked price be Rs. x ‘

90
= Selling Price = 100 xx = Rs. 0.9x

Profit = Rs. 70
Rs. (0.9x - 70)
So, x is to be known

- Cost price =

The difference in fixed and floating rz;Ltea was
more than 0.5 in the following year. )
1996, 1997, 2000, 2002, i.e, 4 years

64. (1) Average of fixed rates

_ 16+16+15.5+415414+12.5+11 +10.5 1105

B g -8
Average of floating rates

63. (4)

15+15+15+14.5+12.5+ 12+ 10+ 10
8

_ 104
B

-, difference

110.5 - 104
B

= 0.8125

Or

which of difference of fixed and floating rate
Required average

l+l+ﬂ5+ﬂ 5+L5+0.5+1+0.5 g5

Statement (3) is not true. For the years, 1996,
1997 the fixed rate remained same.

65. (3)

36. (8) The difference in the fixed and floating rates

67. (1) Percentage decrease in fixed rate :

In 1998 = 18-16.5) . 144
16
_50 _25 _o 1 _
o= =85 =3125
In 1999 = 15:5-16) . 140 _ 3 296
15.5
In 2000 = 151;““ x 100 = % = 6.67
In 2001 = 14 :;2-5} x 100
115:' Tf' 10.714
(12.5=-11) 150
In 2002 = 2320 100 = (2= 12

_ (11-10.5) _50 _
In 2003 = H=202) 5 100 = 22 = 4.55

Obviously, it was maximum in the year 2002
68. (2) 140 147 138 149 136 151 134

L AL AL AL AL A4

+7 -9 +11 -13 +15 -17

I

149 will come in place of the gquestion mark
69. (5) 18 + 19 =37 .

37 + 19 =56

56 +37=93

93 + 56 = 149
70.(2) 2x4=8

8xd=32

32 % 8 = 256

256 x 32 = 8192

256 will come in place of the question mark
TL (1 5 10 40 240 1920 19200

!_}LJLJLJE_J

x4 -x6 =B =10

240 will come in place of the question mark
72. (5) 12=1

22=4

-9

42 =16

52=25

62 =36

9 will come in place of the question mark

was maximum in the year 2000.



73. (3)

74. (5)

5. (4)

76. (3)

15 32 67 138 281 568

L AL AL AL 4L 4

®2+2 %243 #2+4 %245 #2+86

281 will come in place of the question mark

If two trains be moving in opposite directions
at rates u and v kmph respectively, then their
relative speed = (u+v) kmph.

Further, if their lengths be x and ¥ kms, then

'HL}-] hours.

N+V

time taken to cross each other = [
From statement I,

10 (210+300)% gy
6060 W+

LA

Again if two trains be moving in the same
direction with speeds u and v (< u) kmph then
their relative speed = (u-v) kmph. Further, if
the trains be of lengths x and v kms time taken

_by faster train to cross the slower train.

Xx+y

= kms
u-v

From statement 11

- ﬁ =X D)

Clearly, the data given in each of the state-
ments are not sufficient independently. But
when we take them together, the required

speed can be had.

Entcrant = ﬁincipﬂlﬂmﬁah

From statement I,

Interest = Rs. 4000

The data iz not sufficient

From stateemnt II

Time = 4 years

The data is not sufficient.

Clearly, when we take both the data into con-
sideration, Principal remains unknown.
Hence, data in both statements are not suffi-
cient to answer the question.

Volume of the cube = {EdEE.J‘S

From statement I,

Area of each surface = 64

77. (2)

78. (1)

79.(2)

an. (3)

- Edge = /64 = & metres
. Volume = (8)* = 512 cubic metres
From statement II,
Edge = 8 metres
.. Volume = (8)® = 512 cubic metres
Let the number be x
From state:ﬁent I
40% of x = % xx
It is true for every number
From statement II

30 x40
20% of x = =00

=x
20

Hence, the data in statement IT alone are suf-
ficient to answer the question

Let the two digit number be 10y+x, where y > x-
From statement I,
y-x=9
It true for the number 90 only
From statement II,
y+x=9
It is true for more than one number i.e. 27, 72,
81, 1B etc.
From statement I,
Profit = Rs. 50
It will certainly not give the required answer
From statement II,
S.P. =Rs. 310
Profit=T0 «
s C.P. = Rs. (310 — 70) = Rs. 240
Henee, per cent profit can be determined
Sum of angles of a triangle = 180°
From statement I,
If the third angle be x
60 + 90 + x = 180°
=x =230
Hence, the angles are 30°, 60°, 90°
From statement II,
2d angle = 30°




